GGEOMETRY

1. Line £ An

2 'rm3& 8&
3. Cenche

4 QuaMa:f&a-@
5- Poﬂ?gon

6- Co-ordinate g,eomeb?

x Line £ A»gj_l@_:-
Tykes of_orjle

1 Baged on dejue
Q-BaAeAm.ﬂhe

1- Based om depue -

@) Acute an(?ﬁ:- fess bran 90"

() Right anghe - Equal to 50°

(©) obtuse angl - 90° ¢ 6 <€ 180

@) Straight fine angle:- €qual to 160"
(@) Reflex angle - 180 £ 6< 360°

#) Complete [one hound angh - €ual to 360°

Class Notes : Geometry & Mensuration

e ——————
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2- Bated on line -

@ Vertically opposite angle 13

(b) Connesponcling ano%ga [(35] (48]

¢) Altennate an?& ( Interior + Exterioh)
(=261 271

@) Adfacent angle [12>4] [132]

: A

/ AB||CD
o L
C 3\{ D

P
E P TR R gy s—— "!mﬂ“
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& =43 (Vert. Opposite)
L= L6 (COMcsPondL"b")

¥ Thiangbs : -
n?&. A Closed figuwne, thnu Lines or thne

Aides i calley 'bv—c'anoiﬁ-
Tgbes of triangle :-

1- Based on GIL(%@.

2 Based on Sides

1 Baéeal on a__r@ﬁ_b;_

@) Acute arzc?fz m,ga — all angles are acute
angle (

£ 30)
(6) Right angle trianghe - one 4 90
(€) obtuse angfa bffé& [ oma,‘if?/& 48 obtuse(>99

2- Based on Addes:-

@ E‘}mfa{e}mf tuan;ﬁ = Al 3ides ane equal £

| each a‘"(?ﬁ 4 60

(b) Isosceles wngﬁ i= Two &ides ane equal
—--...(g) SCafene War}}& - Aﬂ/&de,s ard dc.'ffererrt.

&____'_Ote' : Geometry & Mensuration
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L1 +£3= 180 (S"ﬁbp)
L3+46 = 180'(5,_4ka




Centre of f/uan%@a -

1- Incentre

2- Crlumcentre
3- Ohthocentre
4. Centrocid

1- Tntentre (1) :- Fntensection point of angle b.sect
-0AS uh  Called (nCentr-

ﬂ_ﬂgz_ei_[:@!bg‘? of Incentre -

N
o
~
0O
"

180’ - 1 (¢8+c¢c)
= 180 —.th (130'-4/\)
- * _ g5 4 ZA
= 180 3o-f~r
[£81c= go°+<A]

_———.——_—-—_’_’-’
o
L Class Notes : Geometry & mg'j:‘_'i
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Py
A
g+

A

Sirru'.ﬁa&ﬁg,
LAIC :90°+4__€J FAIB:SO.'F%
2 2

- Tn @ AABC, T 4 a incentre If LBAC= 80,
Find. MJZL ZBIc-

Sol:- LBIC = 90" + _geo

LZBIC :

2 Tn DABC, T 4is a InCentre - If LBIC =135, then
ZABC wdl be - |

@ Acute angle thiangle “1b) Right angle trianghe
c) Obtuse MJ,& 't)uan(?@ (d) Nong of these

Sol : - 135 = 90°-+ éf)

¢ 9 =[29] . Right angh triangle

3 To A ABC, T 44 o dncentre If LBIC=1455

then AABC L lL bczﬂ
Sod - - 145" - 90° = “N/2 *
o

Class Notes : Geometry & Mensuration
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i
i
A_--—-"—""_—-_—_-_._

gﬂ-.: [110] , obtube G"C‘f& tranghe

4. Tn AABC, T 44 a incentra - If LB=60,.lC=8
find £BIC:

oL -  LB1C = 180°- L (48449

= 1800-—' 70° =

| 5 In a 4ABC, BO £ Co aw exterioh anogﬁ
g_\ bigector of B & cc, then LBocC = 7

@) (B +2c) Ab) :ZT—(LB +2c¢) (C):.!}- (£B+4c) “
(d) 2’_1— (éB +<4¢) ”I

[ Boc = 3 (48+c0)
"2

Sol: -

l /ABOC = G606 = Z4

¢
6 Tn AABC . Bo 4

O ane exten,, | for
o LBele, than sgog e O

E B30 (@i @ e
\

R

we' : Geometry & chl;m___t__if_f
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7- In 8ABC, T 4 a incentre BO € CO art €X-
terion ang,& bigecton of £B £ <C - Find the
Aum Of L B1c +/LBoc =7

SoL: - /L BIc = 90°+‘52i

/ Boc = 9o - 4A
2

/BIC +4£BoC = 180°J

e —

8 In AABC, I 4 a AnCentre - Bo £ CO ane exte-
" Adon anj& besector 0f LB £2c - If LBIC= 140
LBOc =7

Sol: - / Boc = 180 - 140
= [40]
{hCE'MQ'x'?I
J- Im AABC, T 4 aT'meO/l(?L- Bo € Co ane exte-

Nioh arc(?ﬁ bogectoh of LB £ cc- If LBoc=gs
i £ BIC = ?

L o M.
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ool “a L BIC = 180°- 80°

—
—

1o- In A ABC . Bo £ Co ane extenion angle bege.
tor Of 4B &£csc - If LBAC= 60, LBoc=7

Sol:- /L BAC = 60
/ BocC = 90°-<4A
| 2
= 90 -30

Z Boc =

11. In DABC, Bo € Co ane externior an(?& besec-
tor Of LB £ sc- If 4B =40° ,/c = 60,
ZBoc = 7

SOL:': ABOC o (£8+¢C)

X 100° ___.

12. In 4ABC. BO ¢ Co ane externion angle bis-

ector of 4B £ <4¢c - If /Boc =45° AABC
Wl be

1
<
1
2

g—u Acute angh triangle  (b) Risht angle triagh

Class Notes : Geometry & Mensuration
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() obtuse angh triangh () Nona Of these

Sol. - LBAcC = (90— rBoc) x2

- (90°—4—50)XQ

= (597 s Bl e

2 CUzCumCenf)L_e__ ‘= Intensection point of Bides
F&.Penaucdm besectors 48 Called

ClvCumcentre -

Hngﬁ P)"O!be"%”» of Circumcentre. -

OA = 08B = 0C = R.
- ( Cvewm radius)
Class Notes : Geometry & Mensuration
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r | . . ABAC-_:
ABC , O U aq’wrfLCcr!fM If

| B In 8 ' _ 9

P nd cgoc =

2 ¢LBAC

- / BoC = o
- S 2 fser =[]
In. AABC O 4 & Cincumcentre . If LBoc-
14 - n
120° , LBAc = 7
Sol - / BAC

= '.Iz' ZBocC

- %Kl-?oo.-:

15. TIn A ABC , points I £ auw incentr €
CorcumCentre - AD 4B a biBector Of LA
tevsect Acde BC at D and nmuet CU:.CuM—- °
concle of A ABC at E- Tf £ABC = X', LBOE=Y,

481D =F L—F;Y = ?

SoL:- In a OALT,
Exttevior arLsz = Sum of opposite

interion Mu’?ﬁs
Y
SN
SCIG s

- Class Notes : Geometry & Mensuratios
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16- In AABC, boints T £0 ane incentre £ Corcum
-Centre - AD g4 a art?.é’g bi8ectorn Of LA inter
gect Adde BC at D and mat corcumcenche
Of A ABcC at €. If LABC =a, LBOE=C,

£B1D=b , a+4c _ 4
b ' A
Sol.:= b = %+.§.
4
b = ‘?.‘_2"-:_9 i3
C—l%-g = [*] By ¢
E

17 A poke Atanding on Centne of tmazbﬁ;& if
oll elevation an&u& to top of the pole fAom
all Verticer ar equal then Centre of truangle
Wl be
(@) Incentre “(b) Crlumcentre (C)orthocentre
d) Centrocd @ P

Sol : - f Cchmmc.snbd

18- Tn a -t;.,(_anfﬁ 3 ﬁou.') fYLw'g. Poin.fs Which ane
eiu.af Jdistance from all ~ ventices !
ua) 2 (b) 2 c) 3 (d) 4

Class Notes : Geometry & Mensuration n
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followin? (enteresd 4 €Gual

alld vertices 7
centhe  (C) Centrnyy

19. Which of the
dcstance from |
@ Incentre ub) CGhram
(d) ortho Centre

20. In a AABC, points I £ 0 owu MCE*?W:&
Cincumcentre - Tf £BIC =130, LAOC =100

then LAcCB =7

Sol: - / BIc = 130 LAOC = 100°
L BIC = 90+%A4 Z AoC = 2.8
o ot — 72
130° = 90°+4A 160 203
Zz /B = 50
LA = 900
/A +48 +¢2c = 186°
ZC = 180 - 130

3 Orthocentre - Intersection Poinf of {Lﬁ‘lﬁ
Or perpendicular 48 called
0L tho Centre -

A—n&ft. Phoﬁu? of orthocentrne '~

In JAFoOE -
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LAFO + £AEO =180
LA +ZEOF=180°
LEOF = ¢£B80C F
( Vet opposite)
/A+¢Boc =180 g D
IZBDC = 180'-—4/\'

fLAoc - 180" —-28

ZhoB = 180"-<c|

21- In AABC, 0 46 A onthotentre - If £ BAC=4¢,
f':"dr /L BocC = 7

Sol.: - /ZBocC = 180 - ZA
/ Boc = 180 — 46°

22. Tn A ABC, 0 44 OrthoCentre - If LBOC=120,
LBAc =1

Sol : - ZBAc = 180" — £Boc
= 130.— 120
= ‘60'

;mzmtlem -
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o i

mm{m of AABC - If LBoc= vy
on

23- 0 4
wll b
o i s e, LT
c) Obtusge Mgf‘ &) Mo
- ,BAC = 180 =T0
Sol. ]

24- Tn a -bwar?ﬁ hatio Of Sum of Aedes £ Bum

@Jf@wi-w 1 (b) Sess o 1
() Seater than1  (d)equal o gheaten than!

A
Sol.
AC >AD
Sq 7 Hy
| ]
(H'1-+ Hg_'-l-'H&)

5 In o -tm'ar?ﬂ, hatio of Lum _ y
= m.%
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fum Of Acdes Us -
@ equal to 1 (L) Less than 1
(€) Preater thani d) equal or ?Aza.{'% than 1

&L. - Hj_ +H3_+H3

< 1
SJ, +S)_+Sj
Note : - Sum - of  Bides i Q,Qu_)agﬂ gfuzaie)af:‘wu
Bum of ‘ﬁwghts

260 Tn A PQR , points 0 € ¢ aw oa-éfLOCenwcﬁ
CircumCentre- P@ s extendsd mut QR ats.
If £PRR = 65°, LQCR =120 ,fund £SPR=7

Sol:- £8cCR =120
120 = 24P
LP =60 .
: ° o 65
- ZR= 180- 125
R i & S R.

LSPR = 180 — 145" =35

T In AABC, AD,BE € CF amu fwaats £ 0 4
a onrthocentre 0f AABC, than point A 4 ortho

___Gentrne 0F triangh -
}'_____“en : Geometry & Mensuration l
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3 KT T
e
)
"

(¢) BAOC (@) 2Ag,

(@) 2 AOB b) ABOC .

Sol:- & Boc= A
‘ ( ortho centre)

E E

H
B D
4 Orthocentres
C
L( oJ A) BJ )

28- In A ABc, AD,BE € cF mwhbcfod
o oathocentre Of AABC, then point B
ovtho Centre 0f maﬂ-

C

(a) 8AOB (b) 8 BoC &J aA0C

(4) AABC

Sol: - AAOC = B 1 from A
(orthocentre) AD ARE £ AF

29- In OABC ,AD, BE ¢¢CF ane 'ﬁ_..&&..‘_s (o4
orthoCentae 0f 8 ABc , Hhun boint C 44 oatho”

Centre Of ‘bu.ﬂr! 7,&_
pABC

a) AA0B (b) 2 o () sREC
N BOC (C)a d) :

Scanned by CamScanner
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Sol: - 4A0B =c (orthotentrne)

4 Centrodd (G):- Inter8ection Po:'nfof meadians
b Called Centroid -

f{_L__DF@&?e.S of Centroid -

AG - Ba _ Ca
(D €
AG + BG + Ca |

1. A
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AABc _ 1%

aEG:F 1

Midl - Po,ﬂf CC'?{"OI-A.

A GEF = [IAFGE - nAEF

='é' - ‘;14_' =.-!LZ- L# Totq.!:lz)
30- In AABC, AD «& ruadian € G is Centroed - I'f
ar-(4A8c) = 300 cm.“ » ar- (ABDG) =

SoL -

&-ldn:ﬂu-qbﬁ_h
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- SolL: - A
'.'ar[AH-BC_) =
6 ar(aABDG)
8 D
ar(BABc) = 6 x20 =[120 om*]

32: Tn A ABC, Gi1 44 C(entroed - Find ratio of anea
of AABc £ ABGiC-

Sol:- ar(aA8c) 3 (
ar (4 B&C) ~ 1
G
B Cc
5. Tn 0R8C, Gr s Comtrod - If (8RB 12008
__then find ar (48GS) = g |
Clans Notes : Goometry & Mensuration
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24. Tn BABC, AD 4 & wadian of ar (8ABD)=
100 (>, Hun ar ( 8ABC) =7
A
SoL:- ar(aABc) = 2 ar( AABD)
= 2 X100 ;
:[200C1ﬂﬂ

) s

35. Tn BABC, points D, E € F are mud-points Of
K.des Bc, Ac € AB - Find }:_a.{:io'of ar (8ABC) ¢
ar (ADEF)

A

—

ar (8 DEF)

SoL:- ar(8ABC) 4
1

8 D i3
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36 In AABC , points Da’e aw midpoints Of Bides
AB £ AC. Find hatyp of ar (0ABC) £ ar(8ADE)
ar(4ABc) 4

SOL:—. -— —
ar(4ADE) 1

AADE = (ZADOE — 4 Dok

= SEE. B
3 12 T g

37 .In AABC , BE € cF ane median intensgect at
O - Find hatio of ar-(4ABc) £ ar( A EOF) -

ol - ar(4ABc) A

ar(0E0F) B

12
1

C

38 In A ABC, points D.E & F ane ™Mud - pointy Of
Addes BC. AC € AB  Points P Q € R mid - points
of DE_EF &£ DF. Find Aatio of ar (aAgc) £
ar(aPR) -

Sot -
i S
-i_‘_. Notes : Ganmates & WMo —oioo
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; f Sum of Aides :_;um of mdéwj |

2- ]'3 ( Sum of Addes) < 4 (Sumof WC{LM)/
A

3- I AABC,AD 4 a median -
AB = C | C b
AC = b 3;7 /’)Fouomwb
BC=a Hheozems —
= : \
[AB:L-{-ACZ = Z(ADZ‘I"BD))[ 8 Dd
c_:_z_t.él = AD2+ 9-:"—
< . T
[ADZ-—- 2C2'+'2b2_ Q7
_ 4
/8522 s 2cz-b7 o 2Q2+g
Clace ros T,




2, 2
&)AD2+BEZ+CF’“ = 3 (a"+ b +c%)

3 (AB +BC+ACY =

4 (AD*+BE+ CFz)j_

5[3:(41386) = 4(a4

6‘.

7.

My My MS)/

‘If

.

¥ Median

(4 (AD*+ cF) =

5Aci/

If BELCF

Ag*+Ac = 5 8<%

A
E
F

g0

[ o VO

B - a Bl mecoeddeaen
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ch of the follown

@) (AB+BC+AC) 2> ("D+BE+C}F)
(b) (AB+BCH+AC) £ (AD+BEHCE
) (AB+Bc+AC) > (AD+BE +CF)
@) (AB+Bc+AC) < (AD+BE+CF

40- Inn 4 ABC, AD, BE €CF ant muediand, then
Which of the following 4 trut —

@ 3(AB+Bc+AC) >4( AD+BE+CF)

fb) 3(AB+8Bc+Ac) < 4 (AD+BE +CF)

) 3(AB+Bc+Ac) >4 (AD + BE+CF)

@) 3(AB+8c+Ac) <4(AD+BE+CE)

41- In AABC,AB=2Cm, BC=3cm, AC = 4Cm -
Find J@Uhjz‘/z of median AD-

42- The ﬂrg{h of ™ediang of A ABC are 9im, 12
(m £ 15 cm - Find Yu Bum of AQuare of ald
Aides -

43. The ,&néeéﬁ of Aides of & ABC ane 12¢m , 1¢
Cm & 20cm - Find the fum of AQuanes of
Medians -

1 Class Notes : Geometry & Mensuration
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44 Find the hatio of Aum of Aquare of Addes
£ Aum of Aquare of medians in a ’bmd%eﬂ

45+ Find the Ratio of Aum of Aquane of redi-
o8 € Aum of Aquant of Aides ma_'tnwncfﬂx

46- In A ABC ,BE € CF ant moolicns £ G 4s
Centroid - AG £ EF ntensect at 0. Fund the
hatio of -

(@ AG £0G

() AO <€ OG
© A0 £ AG

47 In AABC. AD, BE € cF aw nudians £ G 48
Centrocd - AD € EF untensect at 0 - Find Hu
hatio of -

(@) Ao £ AD
) AG €&GD
€ AD £ AO

d) AG £ Ao
) o6 € GD

48 The ,&,651 of rmudiant of A ABC ane gom,

_12cm € 15om- Find Hwe ar (AABc)
Class Notes : Geometry & Mensuration n
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49 The W, of WM Of AABC a 180”&;-?40,1
£ 30 om- Find the an-(8ABC)

50-Tn AABC, AD 4 mudian - E 48 the ud - point of
AD - BE 4 extended meets Lode Ac af F- Find th

hatio of

@ AF € Fc
) AC £ AF
€) Ac € Fc

51- T OABC. AD 45 Tudian and E 48 Tru'a(-POt'»zf‘of
AD. BE i extended muts ASéle Ac at F- IF AB-
9em , CA = 15¢cm , AF= 7

52 In OABC,AD & median and € & mid - point
0f AD -BE s extended muets Lede Ac ot F-

Fnd  AABC
AAEF

53. Tn AABC, AD 14 vudian and E is rud - point
of AD- BE 4s extended mats Aede Ac af F.

Find 4ABC _ 9
OCFED

5¢- In ARBC, BE £ CF ow mudiant intergect at

Aught “’3& tun wWhich of Bu followng 44 trus-
- Class Notes : Geometry & Mensuration
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@ (A8 +Al) - Bc?
() (AB +Ad) = 2(8cY
©) (AB'+AC) = 4(8Y
@ (A8 +ad) = 5(8Y

55. In & ABC, mdu'ms BE 1 mediant cF- Find
Aatio of AB*+ Ac* =2

Bc*

56- Tn NABC, BE L CF- If AB= 1306m, Ac =22,
Bc =

5" In a }u(?hf t‘Zf AABC, AD € CF av mMediavy
w&uch of {o%w& i taus -

(a,) AD* +CF*= Ac* A

(b) 2(AD+CF) = =3Ac

(c) 3(AD+CF) = 4AC

Ud) 4 (AD+CFY) = 5AC O\ =

F

58- Ina faﬂﬁﬁ AABC , AD £ cF ant rmadiant
then +ind nato of AD’t+ce? _ 2

Ac*

59. In a }ught anélfa o ABC, AD!Cqumdw.z

__If Ac=5Cm, AD =3aun, CF =
WMGW -

— . .
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¢ o
¢o In DABCo ;)LAf-‘ 50", than find  <Epp )t
Ac ¢ AB
) C
AABC g, g £F ot OF pides B 'A“'qaf
6l- In > e /A=
BDp = DF, ¢b=DE and
A
60-
Solutions.
\/Tzcz-fzb“-;‘
=ﬁfialr+2ft4l-é&
4
2}51’
42-  Sum 0f Aquare of Audes :;(31"144¢
- _f_"_ x 450
- 3
J____/‘f____--" "t
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43 Sum of Rquane of Mmedim = (144 +256+400)

=.3
-
. %XEOO ':'.IGOOCM.?'?
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57 &

59 .

56 AB*+Ac*=58c
361+ 484 = 58

. Be*= 28

5

Bc =\ 169 =13 Cm

60-

Q00nQ

HH

Class Notes : Geometry & Measuratio®
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§7L£58 A
AD"+cF®  8+17 T.‘l
Ac® " %o 2
- X3 . 5 -
AD+cCF .5. B 2z 2 C
Ac* 4+ — g —
E{-(AD +cF = 5Ac’-]
59.  4(AD*+cF?) = 5Ac”
4+(9+ cF? =5(z25)
g+cF*= 135
5
2 _ -1-2'5.-3:.%‘2
CF = = :
__C.F: VEI em

4

60- L EDF = 50°
OPPo.Srtc an of Pai?-aﬁfe A8
-oYlam ane equal -

0O AFDE | 2

O BDEF . A
& D (&
0 CDFE & g
Pmaucoaﬁﬁam
E&: : Geometry Mensuration
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1 L«
b,_..—.-a'f‘b _1_ _f_,..f-bJ/
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__/C:g.,b‘f: of hbjht aﬂiﬁ -b.w%qﬁ baged on Corcle-

B (ortho)

1 2R = c-» ( Max- Sids)
> R= ;_Cé_ C&hmmd‘:m)

.3
5 Distance between G € Cwnlum -'—'-JLR:-'E’-%E:

Note :- If the mudian of a
ks maximum Adde -

fi
g

e —
Class Notes : Geometry & Mensuration 33
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Tn a hight cm.c?»éﬂ AABC,

T .4 an MmCentre AB=a,
Bc = b £ Ac=—c

AE+EC = Ac
(a#r)-r(b-r) e
Q+b—2f: c
2Y = a+b-C

v = a—&b-c]
2

( E%MTMM

Distance between orthocentne € Incentro in Aight
anghe -

Distance between ovtho £
IVLCW = \.r?—_ Vo

A

(In 4 BID, w"oba %Hwﬁomé

Theorem 2e g,d:
BI = \E'/‘?—)

= |
B Y D (b-r/l @

: l_ 5 Class Notes : Geometry & Mensuration

e
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0][ W MJA Tl o {ems of marc

M({:}é bate on

A
C .
COS.@ = jg_(_:_ , Sm@:fé@
BC = cE , AB = ¢ SinB
Area :::ZL XBC x AB
::..LC,Z.S'I"ZQGJ:S@ B
2
2
Area( A) = & smz@J
s 4
A
1.
(75)
A: SIYZ,.BO
15°

Ad

>
)
|0,

—

Sm.45

lI

4-\!5.

T

ch“ Notes Genmetrv & Mensumtion
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3 A y
i e zi; Sings’ = E
(60)
N 30
8 C
o B

(45°) A= %zs.t'njo":

B 45

(4

COYL.Ce'bf 22[ }"‘f""t 4’5‘& f)vm(?«ei based on Auvnmilan

'bua.rﬁ&_

Class Notes : Geometry & Mensuration

e —_ ~
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A

90-6 6 96-6 6 90-0 ©
aABcw AADB mABDC(AAA)

a

Hooe
B b .

AABC v AADB AABc - aBDCc  OADBw 8BDC
AB - AC Bc_Ac - B _ AD

AD A8 cp B CD [21))

ﬁqg’-: AC-ADJ"CU [éc"‘: CD-AcJ-m) fBD"= C.D'AH

ar (AABc) _ (_c_\’- ar(aABc) _ (_g_) >

ar(AADB) * ar(aBdc)
ar (8ADB) _ (a &
ar(sBbc) (b)
( Ratio of areas = Squant O:fh.ai:o OfCorfes’;ovd?
Audes)
From cwiion (i) € Ci
AB* AD
B
Fa /AD /
i;iw-:q.mtrytwﬂn _
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AABC = AAER + ABEC
L - A
yab = Fas +%bs

ab = (b'f‘a) S
ah |

I

f,': a-wj

[&dz O]L S?M‘Lﬂ-

(©) Distance between Orthocentre € CrCumcentre
@) Distance beteen OGrthotentns ¢ Centrocol

(&) Distante between Gontroud & Crlumcentne
(f) Distance between rcentre € orthocentrn

gJ Arca

- Class Notes : Geometry & Mensuration

63 In a Sught anglh 6 ABC, 8D AcC. AB=15Cm ,

Scanned by CamScanner



Bc = 0m - Fund -
@) hatio of twnacus of AABC € AADB
(b) hatio Of Circlumnadius of HABC £ AADB
€) hato of areas of AABc ¢ bADB-

64- In a ”"‘?M anaﬁ pnABc, BDLAC.- AB=39¢m,
BC = 12cm - Find the hatio of -

(a) Tnhadkus of DABc € 8 BDC

(b) Ccrcumradivs of nRBC € 8BDC

(¢) Anea of AABC € 8BDC

€5- In a Méhi: angfz AABC B8D LAC: IfAB:BOCm
BC= 40 tm- Find the hatio of -

@) Inhadauw of 8ADB £ ABDC

(b) Cirncumnadius of sADB € 4BDC

) Arwa of 0 ADB &£ ABDC

¢ Tn a W onale aABC., BDLAC- If AB=6m
Bc= 8cm - Find tu fogth of BD:

67 T a h%?%t mj& AABC, BDLAC-AB= 150m,
Bc = 20cm- Find the difference between BD £

% ¥

Class Notes : Geometry & Mensuration
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€8 Tna hught a;.g& BABC, BD LAC - 14 gy,

3BC - And AD.CD:

63 Tn nigut w.aﬁansc, AB =2BC& By,
7

Hun cd = _ Ac
a) Ac AcC AC v Ac
@ 4 & £ @ = @)L

7o In q gt an(?li +triangly ABC . ,@.qd?tk
Of CArCumnadiud & 12 ¢m- Find the cl s 4ance
behoen orthocentre € Centrodd -

71- Tn a )ugxqtan AABC tha L of
CorCumnaday J«SJ’QZC"L Find bw ol gtance
between ordhoCentre £ Cincumcomdng .

72 Tn a Jught anfﬂ 4 ABC ,BD 1 AC- Area of
AABC 4 AADB anz 406 tm* & 100m* If AB =90n
AC = 9

73- In a Sught anr?a AABC, BD 1 ac. Arua OFf
ARBc £ AABD ane 90 cm* £ 10cm*- If Bc =

24 tm, Ac=7?

_ &um:ﬁmtu;_
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74- In o m_(?at ayﬁp& 4 ABC, BD L AC- AB =6 Cm,
Bc= 8Cm - Find arua of 4ADB:

15 In )uakt mﬁ,& AABC ,BDLAC- AB=150m ,Bc=

2om - Find He anea of 4 BDC-

7% In a )u.(?hf w.a,& 0ABC BDLACLAB = 2 BC - Find
the hatio of area of nADB £ 48DC:

17- In a mahtan ARBC, BDLAC - I AD=9Cm,
CD= 4Cm - Find Hu ,eug&, of BD-

18 In a Aight anafﬂAABc, BDLAC- AD=16¢m ,CD
= 9 cm, find the er?{-h, of B¢

9. T a fusht angle 8 ABC,BDLAC- AD=1Cm CD=
4cm - Find tha tangth ofaBe =7

80 - In,a_ )u_g[\t an AABC, BDL1LAC:- AD= QOIL._,CD=.
4cm.- Find the natio OfﬂB#BC-

81-1},' a W anf& AABC,&ACB:I!)'., AC=1m-

Find anea of 4 ABc (in cm?).
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AABC, LACB=221° Ae.

2 4

g2 In & 9“’% of pABC-

g5. In m;u AMRBC, LACB=60", AC =40
Find awa _ AABC-

86 In hght angle AABC,LACB=75° £ AC =240
Find anea of pABc.

87 In a 4aAge, it _&,gg,_ of one modian 4 epuel?

f of 4ds bate  Hhun .
@ acute gn ’ SABE. vkl Ge

e triangle (o) Ay tni’
() ob )"‘c?“'t :
S OJ% b“’"&'eﬂ (el) Nona ﬁsc

UMfexJMf:AWHLOand Lies or fmitt 07(1),‘5
8¢ el be

() Obty g, an?& w ) s mgﬁ' it
se
%ﬁi iie;g";,g

9o

)

e rm———
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89. Tu a AABC, if Corcumcentre Lie on 28 Add
Hen AABC w<ll be
(@) atute angle trianglh “b) right angle trianghe
(¢) Obtuse anc?@ truangle @) Noms of these

go- Sedes of AABC am 2a, (a*1) £ @’+1), then
AABC WL be |'
() acute angle trianghe ) 2t angbe thriangle ‘
(¢c) Obtuse angle triangle () Nonz of Thers |

g1- The hatio of Acdes of 4 ABC anr 1: 2§ -' 25“‘3',19“"-
the 4ABC Wl be
@ aclute an

(c) Obtuse angle trinntle @) Nowe of these

92. Tn a AABC «f oaﬂ:DCen:bw,.fde on one 4ts
Ventex , then Covcumcentre el be lie on -
@) nBide the tzu'anc?ﬂ (b) outAide -ﬁkn-t)uanc},&

(c) on another Vertex "(d) ow One «ts Budae

93. T a AABC, If Cirtumcenthr ﬂezz one its
Acde | than oOnthocentre widl be Ke on -

(@) fasde the ‘buﬁl((?& (b) outside tha thiangle

{c) on another Al \d) on ong afs Vextot

Class Notes : Geometry & Mensuration
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94 In a isabceles night Mfﬁﬁ AABC -0 44 any
point OP £ 08, ane meendécda)z to Addes AB € Ac.
¥ AR=a, AP=b & LPAO =30, Sin75°= 7
( In tevms of a 4b)

A

95 In a rosceler hcyktan?@ AABC, 0 is an

| point - OP € 0Q ane perponddiclun %o Ades e
AC - IfﬁQ;a, AP=b & ZQAOD :30") Sin75%7
(In teyms of a£b) |

ans

' 96 The perumuten Of 4B808cefes %,
nd the arnea of ApBc

Uua-né«& 4 2P L

I. 98- :

“ Class Notes : Geometry & Mensuration
| K_

z - W ’ et i
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Bc=12Cm- Fnd 4w diffexence betwewn BD €
Crlumcentsae.

99 Tn a sght angle AABC, 4f distance bedomn

MOCBHW £ InCentre in 1042 ¢m: Find in-
hadius of AABC -

1000 In a BABC, Gt s a centrod (f AG=BC.
Fmnd £ BGc =7

S Oﬂuﬁomg

48- 3 4ABC

|

4 (Aﬂ My Mo m_":)

AABC = %":zj'f_”x-g
= 72@12;1
49. AABC -'-":fgf:. xi_ X18X24
=12 X24 = FZQQCMQ:']
50 £51-
D& Il BF
AADG -

Class Notes : Geometry & Mensuration B
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(b) R: E, = J_Q = 50m A
2
€) R= s5em
a6 1o
c
(d) & - 1o
I 3 cm
(C) £ =410 _ 5 cm B—’ 2 Ey
é 6 ~ 3 8
(f) J2 h =2\2 tm (?_) A=:.2LX6X8—24-CJ)1_
63- (@) A
el By AR BE = £ 5,¢C
Tadiug of AADR a a,15 7
=25 _5
1 3
(b) C‘-"?—O.Lmraduuof AABC _c g 260 \e
Crlumnadius 0f4ADB a
_R5 .5
15 3

_&Notea : Geometry & Mensuration " -_——-‘——--.]
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A

Inradiur of AABC _ 15
£t (&) Tuadios of 4BDc 12
_ 5 r
¥ 2 -
(b) Crkumnadius of 8RB _ :
B 120m C
¥
¥

)

A3

Corcumnadiuiof aBDc 12
)

<

2

©) Arwea 0f AABC (5}

Area. of 4 BDcC
65. A
(@) Tradau of 4ADE _ 3, o
Innadiu of ABDC 40 3o
=3
4
40 ¢

(c) Puaof anDg 2(3)1 a
) =

Area of 4 B Dc 16
66 - BD = 5__@___9__(_:
AcC
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9)
X
0o

b

67

_ 15X20 A
8P = 25
R = 22 - 125wm
2
B

:'?_ﬁ'cm. A
0 5
D
6 10
8 8 i
D-"25
0 & -

. <
Difference = 12-5-12
= 05 On
| A
68- AB = 3BC
AD _ [(AB)*
cD (Bc)
.__[:-Jac]'2
_ - BC/ B
“
=9
1
69. AB = 2B8C

&lﬂu:ﬁeomtry&lemntbﬂ n
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A_D_ (A.B_ 2 /Fzg 2 A
= = =6C
CD Bc) B c/
- g
b
CDh = AC
5 1
B C
70 . - &
R = 7 = 120om
Distance between Orthocentre £ Centroid = C
:31‘3
3
= acm

71- Distance between ovtho £ CntumcCentro — 18 ¢m.

7.2. Arnea of 8ABC _ 40 :(AC 2

Area of aADB ~ 10 AB
Ac _ 2
AB 1
AC = 2A8
=2X9 = 180om
73. Arva of AABC _ Jo _ [Ac %
' ~ 10 _(_EZ)

Ahea. of o BDcC

Scanned by CamScanner



e

= 3
Bc 1
AC = 38cC

3 X24=T72Cm

4. Area of AABC _(_ﬁﬁ 2 A
Ao of aAD3 | AB
2 10
.-%- X6X%X8 10 X10 6
—A_)wa. ofAADB_ 6x 6 8 = >
3X&x%x9
Area of AADB = e
_ 216 om2
T 28
A.
75. fea of sp8C .—:('B"C‘”)Z 25
Afua Of 8BDC ~ \BC/ ]
1 x15x20 s5x5 1%
2 — _
<
B - C
Atea Of aBDC = 6X16
= 960712
76- Apea Oof AADB _/AB)"
= (3¢
DC N\
Area of 4 B B 28C)2'_ .
— U BC - X
Eﬂotu : Geometry & Mensuration -
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77 - B p*

I\

AD-¢cD
= 9%x4 =36 = BD= 6im

78- 8c* = cD-Ac =gx25
BC = 3x5 = 15m

79. AB® = AC-AD = 5x1 > AB=NFCm
g0 AB = AJ13x9 = 3/13
Bc =Afax13 =213
AR = 3
ac 3 cm
2 A
81 AM&L Of OA BC = ZC—_ Snab
o __c_;_z 100
g
_ 100x100
g o 11 15
= 1250 cm?* c
82 Anea of 4ABc = S - #0x40
z 3
= 4—\[.?{9- = 200VQ cm?
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M
tﬁ\m g\p g‘p

A0 =

E’Mﬂ : Geometry & Mensuration
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-

I SR TV .
Slﬂ 75 — AO ! -.-2—' —a‘—
_\V3 b
= - =
96 Area :;?"_Ixa)(q_ A
2 1 Jza
=Fa a
2a +\J3a =2P 1,
B r) C
a(2+vyz) =2P
d = 2P X 2-V32)
(.24-\/5.) @_@
a = (2-\/—5)? |
A}Lﬂ'a ot _‘21'_(2.—-\/5.')2’31
p B
= CB-Z\E)P
a7 _ ab A
T atb
S = -‘-1-‘,-7-'? cm 3 .5
Area S =[(12 2 1
_ of puare (7) B 7 o
5 144—0'1.7.

439
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123
= 6
.‘LQ\(—\E—CM' 122
R = 2 = EVzem 42 D
Drﬁerean: ®)
B .12 C

99. Vz 2 = 1043
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Guilatenal - i Sodes ane equal €
e MJ&L e:fanc?ﬁ i 60

i ewai'efmﬂ Wﬂ&ﬁ J all Ce,ni)t.e/s ( !anCeni'h_a,
. B .
Contumcendne, Orthocentre £ centroid) ane on Aame

point -
2 Tn a equilatenal triongle, the rato of Antradiu

. ‘ .e V3 = 1:2
£ Contumhadws t-e (1-]);){

3 Tn a equilateral tniangl, the fatio of anea of

mcncle £ CL)?-CumCM.C& Le: A}Zz-ﬁl]))p\ = 1.4

-

Tviadius (), Circumradins (R), Huyght oh (ldan
£ Area Of EWM 'buhm:?—-ezi-

.

m Class Notes : Geometry & Mensu_r:_tf_‘f_'f
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/A
a R_z a
0
lfl.
% o 9%
B D C
a
In AADC -
AD* = g% a? 4a’-a”*
F 4

o
,anx_‘/—:’_’.a.
:.2 2
,,"/;?.a"

=

e
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101 Fmd,-ﬂwm o{wmaauiahamd.w

102 Find tHu hatw of ana ofmcfe{a‘amm.
cirele of equilateral triang:

103- Tn. a b8ABC , if all Centras ane on fRame point,
ten AABC WL be

(@) RL cua.[?fl ‘buan?ﬁ ‘() E

€) obtuse ;ﬂ (d) None of -thc;'Se.
104 - m&dtofet],upeaiehaﬂt)uangﬁeulzcm
Find nnadius-

105 The Aide of equilateral triangle s 6 cm:
Find Crcwmhadoas

106 - Tadus of equidaternal trhiangle s Ou3 Cm
Find anrea of triangb:

107 Corcumrnadins of €udatenal 1 6V3 cm- Find
perimaten of triangle

108-In a . qulatenal s ABC, points D,E£

ﬂ—“ Class Notes : Geometry & Mensuration

Scanned by CamScanner



Faw mdpoints of Scdes Be, AC € AB Finel ZEDF

jo8- In a eiwiiim«t( AABC,AD U4 « a.nr?(‘} b se-
ctor Of LA ntertect A Be at D € Cuncum
cuncle of AABC at E. Find the hatio of ADCDE

110 ITn a equklateral apBC AD .4 a MJG besecton
Of LA Mntentect BC at D& C:')\Cumcmc:?l of AABC
at €. Find AB - AC +AE DE= 7

(@) Ag* (b)AD* @) AE* @) DE*

iix- In a QWai‘meQ AABC, D «4 a pont on Awle
BC Auch that tha shato of 8D € CD « 1'4 Find

AB:AD =7

112. In a eiu.é«fdew{ AABC, D 4 a pount on Awle
Bc Such that the Satio of BD€CD & 13
Find +w hatic of A8 ¢ RD.

13. In a equctateral 4ABC, D 4 point on Adde
BC Auch that tha hatwo of BD £ (D 12

Fmd AB: AD =’

114 Tn g equbateral 6ABC. Dk apont on Acde
- Clase Notes : Geometry & !;@ﬂ‘“' _ -
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7 ) , ‘
(@) BP)Blz 4-P|Di (b) 7 AB* = 94p* 14
©) 13AB™ = 16AD “ld) 21AB*= 25 AD*

116- ITn a CW AABC, D 4 a point on Adds (

BC ABuch that the Aatio of BD £ D 4t 13, <
then WRich 4 truw -
@ 3AB*= 4AD>  (b) 7AB*= gAD*> 4

«€) 13AB* = 16AD* (@) 1AB*= 35 AD

117. Tn equilateral 6ABC, D 44 a point on BC
Such that Hw Ahatio of BDE ¢D .4 1:2,
tun which 4 thur
(@ 3AB* = 4AD" (b) 7AB = 9AD*
(c) 13AB*= 16AD* @) 21AB*= 25AD"

14

12
118 Tr equidateral 8ABC,D . a bout on BC
Auch ot e hatio of BD € CD o 1:1, ¥ L

C
P oen it A L,
' mm:mang_gfj‘f
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‘@) 3R8% = 4AD’ (b) 7A8%= 9AD>
@, 13A8%= 16AD" @) 21AB”=25AD*

119- In anﬁ‘iwfafaaf AABcC, DE || BC , DE= E8um-
Find the anta of AADE.

120. In an €quilatenal AABC,D,E£F are mmud - points
of Aides BC,AC £ AB - Find the ratio of -

(@) Tnhadis of sABc £ ADEF:

b) Circumradius Of aAABC € ADEF.

) PArea of bABc € ADEF

1. In an eg,uu'eafﬁw.f AABC, AD,BEfCFaJw_
Tediant £ G a4 o centhoid - AG &€ EF antensect

at 0- Bnd Hu hatio of AB£0G

' € CF ane
122- In an ei,uogafaal AABc , AD, BE |
mediant £ G A4 A& Codroid - ARG £ EF antersect
at 0 If Acde of B Wgﬂ 4 12J30m,
find Hu ,QM,C?H'L oG-
AABC, T 44 a ncentre

123 In an €9
End e hato of anea of 8 AIB £ LBIC

Gy & Messuration B 1

E—h——_“_m - Geomeltry & "enﬂlﬂﬁon e
—— - ___—_____-_'_,_,_-——-—_

. T 7T - M A SN
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S esh

14 In aneq,w;&iaaﬁ ARBC, O s a CrCumcenty,

Find the ot of anea of 4A0B, 8BOC ¢ ph,,

125 In aneq,u,é,&tm.@ AABC, D, E£€ Fauw my-
Ponts of Sudes Bc, Ac £ AB- Find the hatw of
perumetens of AABC &£ DEF

126- Tn an €quibatera 4ABC, 0 s a’%ﬁaihf-
The P%Pm@aau?ah didtance between o £ Addes
ane P, P, & F3. Find-

(@) Sida of tni
®) Arua of thian
@) Peximeter of wM}&

() Heght of Mg&

127 In an equilatenall AABC o 48 any pount:
The perpendicular olistances betean o & Aok
ane V3, 23 & 53 Find -

(@) side of -buana«&.
() Anea of trd

(c) Pernimeter of trian
@ Hught of trian

1260 Tn a efuidateral ARBC, 0 4 any pont Tha

Maca Wabaw . No o o _ A “--.ﬂﬂw
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perp endeCubar cliktances between 0 £ Aides ans

6, 7 and & m . F/'r[d_
@) Sie of WQ,E?QQ
(b) Anea of -f_-;u_a,%?&
© FPeumeter of +rnian

(@A) Heignt of triangle

Solutipns
fo1- A -1
R 2
102. Ar _ |
Ap\ 4
o4 » - X 12 _
V3 T 243 | N3 em
los5- R = & - 6 _
I & =2J3 tm
106 X _ g3 > a =48cm
N3
e
Anea = 7!-% a’ - £x48x4g
= 576Af—Cfﬂ.2'
. B = 6V3 > AaA=18Cm
M.ﬁoa:(h
———l ometry & Mensuration -

Scanned by CamScanner



108
:>£EDF.‘:60°
109/110-
109. AD _
DE

. : | = (F 2a . a2

110- AB AC+REDE—C£¢1+TEK_?@
_—:a.2'+-q‘f
f'_a.z :AEz

= 3
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120
U Tnnadus of AARBC a

Tuvadiug of LDEF "f.’z /\

(b) WofMBc _

.'?.
 Cotumnadiusof ADEF L

Arwa of AABC _[2)%
©) “(1)
A}Lg_a of ADEF _
= 1
A
121 /122
3
p
2
121. 0 G :_é.AD
AB _ %
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1x\38 xa
6 2

_ 12 - 43
V3

122. AB:0G = 4\V3 :1
X3J/ lx3
123 3 m
A
123
1
2 c

AAIB: ABICc =11
A

124

AAOB: ABocC: AAOC =

11 T |
8 [
Class Notes : Geometry & lcm@
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_ AAOB + 4 Boc+ bAOC

A ABC
\B .2 _lap +J,jaPz+'g.'a'5

1 - 2

&-P

o = P, 4-P2.+R3

2 .
m-f'p;‘f'%J

. -
@ side (a) = Z= (R+Rth)
2 !(7
= 4/3 (&4'&-”?’) Y
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(€) Poumeter = 245 (PutPtB)

d H = P+t

127. ﬂ:ﬁ,&szﬁ,%-rﬁfi
: : 5\/3
@ Side = Z (VE+23T 3)

-__-..-‘g—- XB\{E :lém

E
VEd

2 2 RAS
(b) Anea :.-(16):_”@.-.- 256 cm XL,
(C) PW'&UL = 3X16 =48 0m
(d) H= 8A3 Cm
128. P =6 , =7 , F5=8

(@) Side = % (6+7+8)

XQI‘ = 14\/50’”-

—
—

P

(b) Area- 3@(14\13)2; 588 cm* x,%

(¢) Foumeter = 3x14y7 = 42V3 m
W Class Notes : Geometry & Mensuration
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(d) Heght = 21 Cm
Similan & Congunent —puﬂ,,r?,&_

1. Simidan ‘by_an%_@_ '- Rato of ComePonalL}b?- Acdes of
two trianglles ia equal

Broperties of Kimillan ﬁm,g.r_l(%_@_-

| A
1Ratio 0F 1-D s equal: /\m/\

f__B_...-EE__.__A_'Ezfll Ri _ Hi My AD__:-E_?I_
P - QR T P ha Rz Ha M2 PS

Propenties of Conunent triandhe -

Clae. ; 71
Class Notes : Geometry & Mensuration -
: try & Mensurd™®”
‘—-—-‘_‘-—-—
M ——————————————————————————
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1. Ratio 0f§ 1-D s 1
AB _ Bc _ Ac - h _ R,

— A — —

2. Katio of 2-D 4s 1
Asrra of AABC _(Ag 2

aren of oPaR ~ (pa) =1

Note .'-I-EUeﬂg, Conng_mi' 'bm(?«é A Aimidan but
\Lice - Venda A Mot Ttruwl-

2 Ratio of Congwwni: ‘bs.m:g«& 4 at Aol
'bu'avﬁ but Vice- Verta 4 mot trut:

T ]
Properties o | ==
AAA v’ X
S8S s Ve |
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ASA e L

129. Tn AABC, DE (/1 BC- The hatio Of AD € BD 44 37
Fnd AABC:8ADE =7

130- Tn AABC _DEIIBC € AD:BD = 2:3- Find AABC:
(JBCED.

HADE

131- I AABC, DE (I BC £ ADBD = 3.5 - Find D

132. Th oPBC , DEIIBC £ AD. BD = 3°4 - If AABC =
ggo m*, Hun LADE =7

133. Tn pABc, DEII Bc € AD:BD =R:3- If aADE=
100 cm*, then AABC=7

134. T, pAABC, DE I BC £ AD:BD = 3:5 If ARBC=16
cm*, Yun AADE =

135. RaABc, DE|IBC £ AD'BD:3.'7- If AABC =500
. (m*, then ABCE =
.73

Clag ration
=28s Notes : Geometry 8 Mensu

5
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13¢. Tn pABC, DE [IBc € AD:BD =35 "If ahgc_
16 cm*> , Hun A BDE =7

137. Tn DABC, DEIIBc £ AD:BD =45 Find  aADL
ABDE =7

138- T2 pABC , DEIIBC € AD: 8D = 3:5- Find 48
JABCE =17

139. Tn AABC, DEIIBC €AD BD=1:2 Find aADE
ABDE: pBCcE =7

140- Th AABC, DEII BC £ AD: 8D = 35 - Find AADE.
A BDE. ABcE=7?

141 In pABC, DE Il BC and AD: BD = 4:5.- If pABc
= 810 cm* Find A BCE=7

142 The hatio of Conresponding Kides of +wo
‘Dwand?ﬁu A8 3:4 - Find Hu hatp of Hein anat

m: Class Notes : Geometry & Mtﬂ"_’“‘p‘.o-“
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144 .TE'Q }"%&Zf CO’U?-&!POWH, Aides of two Ai-
‘ f Z‘L‘UL A4 45 .1 . :
wmfel A 120 em - Find tZ;PEw’lﬂfCh 07[74)14:1'

, ) perimater of Lecond

145 In 8 ABC, Line DEI) pe € sivides AABC dnto
T eual parts Figl AD:BD = 7

146- In a AABc, DEIIBC & civides aABc into
10 €qual parts - Find AB: AD = 7

147 In. AABC, DE118¢ 4 divides AR Bc <o 00
&ual pants . Find AB:BD = ?

148- Tn AABC, D £ E anu mid - points of Addes AB €
AC. Find the hatio of AADE :IBCED=7

149. Tn 4 ABc, D& E et mid - points of AB €Ac.
Pu a point on DE Auch that Hu ratip
DP:PE = 3:4 - If DP=12¢cm, find Bc ="

150- AABC € APRR are ngwunl‘ WJ'L{OA&
= 200 tm>- Find AP&R =7

---—"'-—-._.__
Qs Notes : Geometry & Mensuration 2
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129.

2.

130- AABC _[/5)7_ 2 2
A ADE '_(1) 4 > —y
AABC _ 25 3/ 1

- 21
[1 BCED 5 \
A

131- AABC - /8 9-__5:;_
2ApE 3/ T 9 2
AADE g -
AADE 9 D . E
—-——'—'—""-_— —

OBCED 5 5/ &
8 C
A

132. AABC _ ..:.7.)2: ggo
AADE 2 DADE 3

D E
AADE = 180 em? / \
B .

—

ﬂ Class Notes : Geometry &ML’

e

op
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AABC Ly

133 .=
A ADE P

AABC 925

100 4-

135. AABC
100 —» 500
1 =5

2
ABCE =T70X5= 3500m

136.

D X3 5

5 2 49/3 X 3
- B C
i“';_;"?_"_" : Geometry & Mensuration “

e s P - » - - —
B A T o — -
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3|5 | g
A 3D 5 B A 3 E S C
AABC = 16 cm* S8
64 — 16 &>
_L——>_4}__

ABDE = 15x% = 3-75 cm?*

137 4

- — Class Notes : Geometry & Mensuratio?
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aBce 4o
- 32
- 8

17 . X2 . 6

140 AADE . ABDE : ABcE
g 15 . 40

141 AABC = 810 em?*

81 —> 810 16
1l —=> 10 D
2
ABCE = 45x10 =450em” 5/ 20 gl
8 c
S._".—-‘- -
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43 ..'S_I = —‘f- = ad
4 Y 9 3

144 Rato  of lbemmef‘/l-ﬂd i
4 &) 120

S [155]
A
145/146/ 147 ﬁ

AABC 2 N\E
AADE 1 é“?/ \
AB _ vZ
AD ~ 1
_ 1 \f_+1 ~
145 AD: B_D = Bl VZ+1)
146- AB:AD = %
. N (\f"+1) |
147- AB: BD = -
: C\f’ _,_) (W‘f‘{) ‘?""\[-2-

148  AADE 1

OBCED 3 1/
[#]
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149 3 > 12 DE = 28 tm.
14
4> 16 Bc =5¢6¢cm.
plit. 8\ e
/ 3 p 4 \
8 C
150" AABc = nPAR

If AABC = 200 C,n’l,‘:L
> aPQR = 200

151- In DABC, AD L BC £ AE py fna,.(ffa m:cto&
OfLA- If 2B = 40°, /C =60, LDAE =

£ AE & anangfa besgector of

‘ BC,AD_LBC
iﬁInAA 6093'&&-’2— LDHE:‘.?

LA-Tf ¢B=80" ,4C=

: bisector of LB €
: AABC, BD 4 i an
15235:;; anextenuor Mfﬁa bosectoh oféc - I{£BAC

-8 , «8DC =’

a/l_jfz higectvr of £8

DA an
54 Ju bAC. C a.nf& besector of £C

4 D 4 an externiv

| & LBDC |
_ Find ¢ ot 0f LBAC & £EDC _
&:ﬁW n
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151

152

Soluteons
A

LAED = LABE +LBAE

8wl
sohE = <87°C

I

ZLDAE

i

ai—

Class Netes : Gecmncten & u-’
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i !f!.?“ bated oM Suder of ‘QH-"!?&:"

(. Sum of two Rider s alwapt Puater than third
Aude.

). Differeate of oo Aider Ay Lows than Hhird Sids-

3. 2, b and C ane Ader of bABC Auch that C 44
e Mawimwn Ade of AABC, than
() a>+6* = c?
i a*+s < c*
£Cis Obbuse angle.
> dbscis obtuws angle triangh:
i)y a*+b >c*

4ABC 4 acule angle 'b'w:mgzL

156. The hatio of Ades of BABC s 2:3:4 then
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(@) Atute W,?& (b) Reght ani-@ thiangl,
ve) obmﬁ triangle (@) None of these

157- The Ratio of Ades of BABC 48 5.6, than
AABC will be - |
(@) Acute an.gﬁa. -buang& (b) Reght anc?eaﬂbumba@a

(c) Obtuse angle -b\mi@- (d) Nome of these

158 The Length of foun Line are 2 (m,
3Cm ,4Cm 4 5cm- How m,a/#—t)uangzs Can_bc

‘fvﬂnedég-&bescﬁinibﬁmuis.

Solutions
. 12 . 13
155' 1 . ? . 5
5 12:13
5%2+12% = 25 4144 = 169
132 = 1689
156-. 2! 3 4
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o 5:6:7
. 5* 46> = 35+36 =61
'72 =49

158 Thrue ‘f)u.awﬁzf

2,34 — V
34,5 — v
2,35 — X

245 —> v

159. Tn 8 ABC, points D L E aw any points on

Scdes AB € Ac Such that LB=cc=T78,4{BCD=
24° £ LCcBE =51°, LADE="7 (LAED= 7,4 BED=7

£ ¢CDE =7

X +X+5L= 15 P <= 12"
B = 75°—12" = 63°
Z ADE = 39°

o
'AAE.D::J.I'? 5
e

a B meewatinan
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; Ivradus of 'ﬁh,g'.aﬂ‘fﬁz S
Tnnadiun of trismgh = 002 OF triangh

Semi-peuimeter of

triangl

AABC = AAIB+ABIc+LAIC
A = llcfz_+:alah+_.zf.bnc

pa) =_—af-(a+.b+c)-h.
fl- = -—A- B D &
> = 2 .
A= /Qm-f:m-ée)z_
For equilateral '(')ua.-ﬁfi
3 2
}L =__£ = — ﬁax:ﬁ
340_ 4 3
: *
< A3

I
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s /5

L Tabc/4s

40*
“A(abc) e
s = [A(r-a)(8-W (Y

% 4(A-2)(4-6)(4-9
"T{ = abC

—

\

160- In OABC, D 48 o point on BC Auch bt
Hhe Satio of BD £ CD 44 1:3- £LB=T L= T
Eind Sin 2 BAD - Sin £ CAD =7

161 In DABC, D 4 a POM on. BC Auch that Hu
%atio BD:CD 48 1:2- LB = .471‘, 4c=.37_7.'. Find
Hu hatio Sin £BAD : Sin £CAD = 7

162-In AABC , D w4 a Poc'ni' on BC Auch that Ha
satio BD:CD 44 1:3 . LB= T3, cc = T Find
the hatio Sin LBAD: Sm<CAD =7

163- In 4ABC, D .4 a Po{ni on BC Auch Hhat th
hatio BD:CD 4s 1:2- £B=Tfs £ <c = T Fiid
tu hatio Sin £LBAD: Sin £CAD = 7 -

Nloeea Mabae .~ _ 4 o “.nlﬂf.ﬂo_‘
Scanned by CamScanner
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164 h ﬂABC, G.:b:ﬁ-, C:g.F}"wz R=7
(45 TLBABC , a=4, b=¢, C=8: Find h hatio MR

166 T DABC, LA=60" , £B= 30" Find tha hatio of AB:
B AC =7

167 Tn DRBC , AB =10t Bc =20 , LB =30 Fivd
e anea Of AABC: |

(69 T BABC , Be = tocm - If LBAC=30 5 find
Cncumhradiuns of s ABC-

Solutions
A
Resudt : -
B D c
0ABD Yy AB-AD - SinL8AD 1 48.8D- Sin
____aAcd ~ ¥a Ac Ap SiniCAD T IR b AC Simc
%ﬂeﬂmetﬂ & Mensuration n
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Sin. ZBAD (_&L SinB
SinLcAD Sinc

166 Sin<BAD _ 1 SnTy
SmlZCAD ~ 3 Sin T
— 1 x Nz _ v
3 3/, 3V3
Sin LCAD < m/‘; = Z ’:,'j = NF
1¢42. Sin £ BAD — 1 Sin my
Sins<cAD 03 ST =3LK{‘?- vz
= 1
- T V6
163- M<LBAD _ . Sin T3 V3
Sin L CAD 2 SinTlg -i—x:?_.@ XN
- N3
| RV
164-- R = %9;- A:JS(.C—Q)(&-&Q(J-—_Q
< . 5x5xs =x] 9 x4x4
T T4 x12 = 12
_ 25
- 6
165 A _ 4(s-a)(s-b)(s-
R abc
i 4 X5X3 x4 _ 5
4 X6 x8 T 16
_//
L &-h-:n-—.-.l—-"f:
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972 AB:8C. AC = Sinc:SinA: SinB
= Singo ’ Singo - Sin30

= 1 :¥Y3

<

= VN3 .1
so'rc

167 AMa-Of A ABcC
= :21. x 10 X 20 X Sin 30°

- 50cm.2'

—

F\_ '-"._'-?.Sl'n_

» # 210 s
T @2 sm30 B 10 Che <

%

; ?).’a =100m

169. T, AABC, E 4s a point Buch that BE u an
Mﬁ besecton of 28 £ AELBE: F i a point on
AC Auch thak EF 11BC- Tf AC=120m. forud the

&gt of nF- -

b
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Bl

170. In AABC, E M4 a point fuch that BE 4y,
bitector of LB & AE L BE- F u aPOJm}
on AC Auch that EF || BC- Find the Mrocf
(a) AF: FC

() Ac. AF
(c) AC: Fc¢
165/170. A

( Popediade, biecor oo
Cut line anto equal Panﬂs ie
It & a mdd- point -

169. AF = & cm. & <
(l‘n Isoc- &£ e9ul. A bes
17o- EZ) 1'.'_1_ Ctor _ea a.QaJa?a L <€ hance
() X'1 M—foini‘)
CC) £.'1

then 0D1AB
Class Notes : Geometry & le_‘:_‘fg
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IfCCQB = CDD}

€ = OF

£ZAOB =¢CoOD
AB = ébp

| AAOP = DLBoP
| 2. < APO = ZBPO
3. ZAopP = £BoP o
4. LAPB+LAOB = 180
2o +180°- 26 = 180

Scanned by CamScanner



(Ag.8P = PT*|

——

Class Notes : Geometry & Mensuratio?
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av1-

179.
| LACB - Z0AB
18 = 904+0-6
= 90°
\’\ R
Neom i =
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173 AB 4 a chord half of dameter Cig,
- W 177
on Md‘fd't anc of AB- Find £LAcB="7

(
)
174 AB 4 o chonl ﬁ.a.ﬂfof WﬁM-C-&&a_F% ,
. (

on minor arc of AB. Find LACB =7

174 - éﬂCB_—; 15.0.
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AB € CD ww two choads & 0 is Hu Centre
of te cnche - I LACB = 60° £ £COD= 90,
AB = & and CD =b Hun cwhich 44 thul -
(@) a* = 26" (b)) 2a*=b"

) a*=3s" @) 3a*=s*

177

178 AB € cD ans +boo Chords £ 0 48 HBu Cntre
Of CU:.C&. If LAOB = g0° ¢ /coD =120,
AB= a £ ¢cdD= b then which 44 Twue-

(@ a*= 2b" (b) 2a*= b
c) a*=3b" () 3a*= &
C
175/177
TnaCOD — - _ \q
= a*+a* 4 —
o
bl = g_a_?j AT Px O a D
A _ 2 _ L 17
B
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179- AB £ CD anw +ro chords untersgect ai')‘uv%i’
anfe at pomt P- The distance -between point P
£ Centre Of Conche 48 ¢+ If AB=2a, cD=2b
then find B hadis of cacke:

180- AB & D are +wo Chords of circle wtersect
at i ang«é at point P- If AP= 2.cm,
BP = cm £ cP= 3tm - Find -

(@) Yadius of tu corncke
(b) diameter Of Hu Crcle

_ {73

oz Class Notes : Geometry & Mensuratio®
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|

From €juation (i) <€ (i) —

2 5% = 0&*+ OR*+a*+b>
25%% = a?+b*4c?r >
7 = \/_al+bl+cz'=-_', | ;
| Z
D
186 AP-BP = cp-ppP |
2XxXx6 = 3 xDP s
DP =4 cm g
In QOB — - = *
A
hl _ 65 \J
s == —;4-_—" C
b = V65
A
2% = \J65
(@ % = V65 cm
2
(b 4 = Vg5 om
S Kotes  Goometry & Mensurtion =
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.Qucéﬂ'an& bated om ﬁmfﬁ. of Cormmom chord : ~

181 The $adiu of two cincles are 15cm and
20 m & the dstance between than Centres 4
R5 Cm - Find tw Lugth of Cormmon chord.

182- The Aadius of +two Cncles ane 3¢ ond 5un
& bhe Jdistance beboeen theoth Contres s 4 cm.
Find +tw )@ng&u of Common. Chord -

183 Raduy of +two equal Concls 4 5 cm pas
-75 toough  each othen Condnes - Find the
fv?&. of

Cormmon. Chord. -

(85)7 = (15)*+(@o)*
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1.
5l [L]
3 4
|
' J
2
[2] ) :
N
5 kY o — (Pc7)

(TcT)

| il e ———

10/
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l_y_laﬂ'- of Common taﬁ,i@.@.t |

fLUW\' of direct Commom ‘ta_n&e,.,t (DcT)

& Lt of Thansvense Common tagent (TCT)
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2- Transverte Cormmmion tan

/:qB \fd (fzﬁh)J

184 - The hadi of +two cirncles are 17Gm € Lotm and
the dutante between Run Centres 4 25 om - Find

Hu /().Mﬁ{'l., 07[ Adrrect Common -tanfb-i'

185 The hadil of 4two Crcles ane 14w £ 10m
ond +ho dstonce between Huh Contres i <25

186- Tha haolii of two Cocles ara »y £ ra cm touch

each other -AB 4 a Jdirect Common
tan e AB =
Ca) g‘b;iﬁ, fa (bj’ 4 7 iz
W e) 2 \/)7,‘12_ () 4-\/)};12_

187 Tha Sradic of two cncles ane gum € 4cm
touch each other extwwﬁ%- AB i a durect
Common —tanc‘}ﬂhf- A Amald concle touch Ko A8
£ both Cacles- Find the Sadiut of Hwe Small
Cuhclle -

Class Notes : Geometry & H:ﬁiﬁ:tbﬂ
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. The Ao of two Grcles e by cm € Pa O
quchos extonally  AB 4 a irect Common tanget:
ﬁ/"""‘w Concke traches Mﬁaﬁbo&mdg-lf
MMOmew&w&ahjlmﬁuchﬁM.
@ JFs VAL = p s VCB)Q&‘;*’@:J&;

©) VE—\Az = s @) /{;4._}:1 - _};

3¢. AB =\J625-43 =\[576 = k4o

s AB = \625-576 = \[43 =7T"

186 "y

A = N (ra-ro)*
= Prtr) (2= 2)*
/;\B = QYA Rz ‘

127/189 AC = R Jh.;hs
e Bc = 3 JArara
k-\‘“. : Geometry & Mensuration
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e e e

187

N

———— //

—

tio®
Ciass Notes : Geometry & Mens®™"
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39. A C""O& touches all iides of Guadnilateral
ABC‘D'HB A6 507, BC=6wm £ D= gcm: Find
yu Logth of Adde AD.

o A Crcle touches all Sides of Guadnilateral
ABCD- O 4 a Gt of caacle- Find the Sum of
LA0OB &€ LCOD-

f

191- A Ccocle Houches all iides of Guadnibateral - 1f
0 8 the Centre of cnrcle  Find tha Auwm of ¢BocC
£ LAOD -

183-
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8

2(£l +.£-2-1j£3+44-) = 360
L1 +22 +43+44 =180

(L1+24) +(22423) =180

190 .
L,A0B + < Cob = 180

191- (21+42) + (£3+44) = 18°o°
L BoC + ZAoD = 180
192. AP £ BP are tio tangets at point A 43"’:‘
0 a the Centre of cocle - If op=2scm AP
24 m_ find Bu hadius of concle.
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. If 0A=17 2 £ AP-=
15em- Find tho Qroa Of q nilad e

131 AP £ BP arne +wo -éaygﬂqis £0 1 a Cntre of
Cncle thon Guadiilatenal ApBo witk be—
@ Parallelopram (5) Rectangle
4 Cgc&‘c @) Nome of these

| 198. AP £ gp are two tangents £o 4 "'Z""b"of
- Wl Find tue Sum of LAPE £ £AC

omts A € B and
AP € gp ane o _tordrE
lv///

Notes ; Geometry & Mensuration
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Ou &
£ A0B ="

200.- AP € BP ane 100 'ta‘"t?“ts oL poinis A1 €E o
wadist of thu cnche is 5 m If AB =85 Thin
find the Longth of AP oY BP-

._S_o-&dcbﬂ_é

192.

193.




Al
P
, A
195 ~ 15
P.
(J
8
Area of [J APBO = L7x15
- 2-?5_@12
e A
19¢. %
P
Area of (7 APBO = AxAP
180 = A x20

Z0AB = 30
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198

199.
ZO0AB = 90°—-40° = 50°
ZAPB = 100°
> LAOB = 180°- 100"
<200 -
90 90’
AOAPZO0DA

12 [

Class Notes : Geometry & Henlurl_"_t__ifn

-

- . e ' RS ——— e L
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/.!_4_ p* = Ap. D f

[80* « op e ]

If OO0AP 2 aopa

i A ELT

201 AB € CD ane oo Chordi oH:oﬂ,de, Aede Of
Centrt £ dihtance betwesn AB &L CD <4 17Cm.
If AB-.-.-. 24 cm, cD= 10 tm: Find Hu haduu of

2 AB £ D ane Hwo FMW t“’U?M PR

at P€
% -5.3” 2ol -{:a.nt?eni' intensect AB€ C CD Qm
wmetry & Mensuration =

e
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and © ir a Contre Of Concle - Find £POQ=7

203. The fadias of #wo Comcentric Cencles are g
£13cm. AB 4 Hu diamster of bigder C«{tc&ccel
4 a tan aded:Dc&,gmmﬂm,cmﬂ&

Find Hu of AD.

204 The hadd of two concles ane 20m €3 mn
touched Lnt Find the Length of Large
chord #o be a tangent of Amallest concle

A
202
e
Q(d'f‘?) = 180
X+P =90°
= APOQ: 900

€03 . AB 4 a diameter
' ZAEB q0°

I

m ——— gti?
Class Notes : Geomotryl!i urt”
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AE = 16 ( By mud- point)

Tn AAED S, .
e SR - k4 - 19 -
204 - A mg
b
4.0
In Pc8 -
BC = \R-m
AB = Vg
= 4J2 om-
\
Wﬂeﬂ? & Mensuration m
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X05- To Corcles untersect at oo boints A£B - cp
48 a durect comrmon {“'{f””t Fimd the 3um ¢
LCAD « £CBD-

<06 ABC 4 a Aecant Auch +hat poinks A& B
arne on Chcumference of concde - ¢D 44 a.-(:anc?eni
at point D £ O 44 a Contre of cencle - If ¢BcD
40° £ £¢cDB =44°, find ¢ACB="7?

05"

—T
116 Class Notes : Geometry & ‘i‘f’ =3

e —
Scanned by CamScanner



LCBD =180°—-p
LCAD+LCBD = o(+B +1R0° — (- B
= 180

ZABD = 40°+44° ( Sum of exie)u.'oha»?ﬂd)
= g8¢°

L ADB 180" — 128°

LZAOCB = 104

Quadnilateral :- A closed frgune %t;-fowzﬁinc&
OJL-)(ouJ‘L Redes 44 Called quadni-
Lateral

Tipes of Quadnilateril -

1. Parallelodram
%a&y & Mensuration :m
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R/lOrbeu,‘

51 :Sz
P 4 a dy L o

————— Class Notes : Geometry & Mensuratio?

—_— SRy > RSk FE— sl
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S |
S9uare
If 51 =Sy
4 1 D;'aaonaﬂ bisect ventest QMJ&
ﬂ,#ﬁl
4 | o
51551- 5 | 1

Area

Area Of 7 PARS

(Rhombus )
2 0 _
Ama of O PRRS = a*singe’ =&
(syuare)
" PQRSPR2+5Q" _ P> +&RT Rs*+PS
A +dz 2 (a*+5)
5 I
[J PRRS -
dll'#‘d;f = 2(1 L —
-

b [ ———— T ———
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AL

7 (Rh) PQRS ,
d_1_2+‘£2. = 4'0'2-

0 ( Sguare) PQRS
aLf-l—d:f = 4a*

207 ABCD u4 a llgm- E u a rud -point of Bc.
Find tw hatio of anea of llgm ABCD € 4ABE.

208- ABCD 4 a Ham- E€F auw M—Poinis of Bc<
CD- Find the ratio of awa of lIgm ABCD € AEFC

209 ABcD 14 a Ham- Points P&, 6 Rand S ane pud-
points of AB,BC, CD & AD - Find +the hako of aua
of ligm ABCD £ PQRS.

Q10 ABCD s a Ilgm - Points E€F ane vud -points of
BC £CD- Find Hu fatod of anea of [gm ABCD

R11- ABCD 4 a llgm - € €F ane mud - points of

Acdes BCc £ cn. Find He hate
€ LAEF- of asaa. of aM

0 - J__,,,

m—\ﬁ‘__ir_"te' : Geomet,ry & Mensuﬂjff

BRSNS —————— S Y T8,
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" _ABCD & q |
WP,Q,nga,, ‘fBDMfen.secfaio-

| HB_CD 4 a llgm- Ac ¢ gp mbergect at 0- €4
the mid - pount of AD . Fing hatio of anea of ([9m
- ABCD £ Guadrnlateral OCDE: d

U5-ABCD «4 allgm - Poonts €€ F ane mud- pointe
of Audes Bc £AD - If Area of AAEF 4
12m?* Bun find Huw awa of llgm ABCD.

6. ABCD iy a [lgm - AB = 30Cm, BC=20Cm: The
digtance betwreean AB &€ DC «4 10 (m - Find the
ddtance betroeon B¢ € AD-

. ABCD 4 a cgcﬁc [1gm: Find <ABC -

RhBcp 4 a llgm- AB 4 exterded o "I
S Tote, : Geometry & llensuﬂ;ign”l—/"_
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bont E- BC £ DE antevgect at P- IfAB?—BE,-HWL
find Hu hatip of BP € CP-

219. ABCD 44 a Hhombut and LABC=60" Tf
10 (m, Sind  the Length of AC

220- ABCD 4 a Ahombud - Tf LABC =120° €
AB =200m , thn fird the Length of AC.

221. ABCD 48 a Rhombut € LABC =60°- Find +the
hatio of ACc £ BD- |

222- ABCD 44 a hhombus and £ABc = 60° T AB=
40Cm, Hun find arva of rhombut ABcD-

223 ABCD 44 a cychic nhombus - Find 2ABC = 7
224 The perimeter of hombust ABCD 4 146cm
Iffmﬁ#» of one olcat?ona.()_ L 55 Ccm. Find Hu

Lengh. “of othor aa'qfomﬁ.

.2.25.[-E ABcD Als‘ a lhembug - AB<L BA an exiend“l
O any ponts € ¢ F Auch Yt Ag-ge-= AF

FOL EC mut at 6 - Find seGp 2
Class Notes : Geometry & He:u_“'fti_o’

- -
T
o
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7 ABCD 4 a Rhombus - Ac £ gy

e : 8D

The Pomt& P.Q.R and g 45, Wd‘j‘:vfﬁeci;:-j_ |
0 Co € Do Find Hy patis of anta of h.hom;

28 ABCD &4 a /%W_e-aczae,dsmegm;&mai |
W“”i& ard € U csutseds of wan(?&-ﬁfnd
LDEA="?

29. In a AQuarne ABCD, AAOD 4 an equilatenal

{mxba-&- Find < cop-

R30- Tn a ,z;aw ABcD, AAOB <8 an equilateral
| ‘t/wuﬁ@ . Ac £ Bo untexsect at P. Find <AP8.

B1- ABcp 44 a mectangle - Points PR ER ane
O Aude AB Auch that AP=8R= PR=RE
Fnd 44y foadio Ofmof;wqfa’bi& ABcD <
dcrq.

N R —

SNoter; Glometry & Mepmuraton
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Sin(30+30) = Cos

Sm30° © Sin30°: Sin 120°

1 = 1
< P
1 1 N3 .
_ a*xV3
. - i
/T%w. = ’\’_52-3—41"/

[gm based on Anea:-
Concept of | o, on Anea: "

% K “‘”E
— /_,,/

Class Notes : Geometry _l-’ijﬁ‘j,“"/

L 1|
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[JABcD : A QRC
g . 1

[IABcD: [7PARS
= 8 ! 4

= 2 1

LIABCD. AAEF "
8 '. 3 4
AABC : AAREF
4 ' 3

| o
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